Lattice Multiplication (D)

Use lattice multiplication to find each product.

2 2 8 3 4 8 4 8 8
3
8
6
7
4
22834 x 38674 = 84887 x 95825 =
2 7 0 5 7 7 8 1 7
8
4
8
3
2
27057 x 84832 = 78176 x 91743 =
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Lattice Multiplication (D) Answers

Use lattice multiplication to find each product.

2 2 8 3 4 8 4 8 8 7

010 12 /710 /Tt /] 4 73 7 7 16 /] 9
o, 6, 6, 4,9/ 2 8, 2 6 2/ 2/ 3

LA 6 12 13 7 g 4 N2 14 A4 A3 ] s
8, 6 6, 4,/ 4,/ 2 I o o 00,5

L AT A4 0 12 6 6 13 16 /16 /15 /] g
8, 2 2 8,/ 8,/ 4 3,4 2 4 4/ 6

LN A5 A2 A2 4 A0 AT AT AT,
3,4 4, 6 1/ 8 4, 6, 8, 6, 6,/ 4

0 10 3 1 1 7 4 4 N2 N4 N4 A3 ] s
0, 8 8 2 2/ 6 2, o o o 0 5

8 2 I 1 6 9 6 7 71 5

22834 x 38674 = 883,082,116 84887 x 95825 = 8, 134,296,775
2 7 0 5 7 7 8 1 7 6

1 N5 10 N4 5 ] g 6 17 10 716 15 g
2, 6, 6 0 0/ 6 1/ 3 2, 9 3/ 4

0 N2 10 12 12 /] 4 0o 10 710 70 70 /| 4
2/ 8/ 8 o/ o/ 8 1 1,/ 8, 1,/ 1/ 6

1 A5 10 14 715 1 g 4 N5 10 14 4 ) 5
9 6|, 6| 0/ 0/ 6 1/ 9 6 1,/ 9/ 2

012 /10 1 12 /] 4 2 N3 10 12 12 /) 4
5.6, 1, o 5 1 2, 8 2| 4 8/ 4

o A1 0 0 1, 2 2 10 12 11 7 4
2 4 4 o o 4 W o1 4 3 1) 8

9 9 4 2 4 0 0 7 6 8

27057 x 84832 = 2.295.290.424 78176 x 91743 = 7.172. 100,768
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